MEASUR	EMENT SHEET		The State of the S							
Company Name: MRMLLP		MRMLLP				Approved by:	Ramprasad			
Project:		Gulmohar Residency				Sign:				
Work Des	scription:	Lock set at A-block								
Prepared	Ву	P.Sai kumar reddy								
Contract	or Name:	Praveen Kumar								
Date:		14-07-2020								
			Α	В	С	D	E=AxBxCxD	F	G=Sum of E	
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total	
1	A-block	Lock set Holes		-		Y THE STATE				
		Rate for making hole 12mm	1.00	1.00	1.00	72.00	72.00	no's		
		Rate for inserting rod with	1.00	1.00	1.00	72.00	72.00	no's		
		chemical								
		Rate for making hole 16mm	1.00	1.00	1.00	46.00	46.00	no's		
		Rate for inserting rod with	1.00	1.00	1.00	46.00	46.00	no's		
		chemical						100		

ESTIMATE S	HEET		5 5 10 5 10 5 10 5 10 5 10 5 10 5 10 5						
Company Name:		MRMLLP			Approved by:	Ramprasad			
Project:		Gulmohar Residency			Sign:		DE CONTRACTOR		
Work Descri	ption:	Lock set at A-block					Three Lawrence		
Contactor N	ame:	P.Sai kumar reddy	137117			11.00			
Prepared By		Praveen Kumar							
Date:		14-07-2020							
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total		
1	A-block	Rate for making hole 12mm	72.00	No's	20.00	1440			
		Rate for inserting rod with	72.00	No's	15.00	1080			
		chemical							
		Rate for making hole 16mm	46.00	No's	30.00	1380			
		Rate for inserting rod with	46.00	No's	20.00	920	Lord Harris		
		chemical							
				G Min		4820.00			
					0.15	723.00			
		Grand Total				5543.00			
		Note: Adding 20% extra for	less quantum o	of work and	dificulty of work				

Allowance for Consumables

R. Praveen Kumar, Lallaguda, Hyderabad.

Date: 14.7.2020

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work: Lock set done at Staircase-1 & flat no-04 at Corridor at A-Block.

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Drilling of holes and inserting rod with chemical work for staircase-1 and at flatno-04 at A-block. Total Amount = 5,543/- Work done from date 01-06-2020, to date 22.06.2020.	Rs.1,108/-

Proveer ? Amount in words: One Thousand One Hundred and Eight Rupees Only.

Sign:

Bill for Labour Charges

R. Praveen Kumar, Lallaguda, Hyderabad.

Date: 14.07.20

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work Lock set done at Staircase-1 & flat no-04 at Corridor at A-Block.

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Drilling of holes and inserting rod with chemical work for staircase-1 and at flatno-04 at A-block. Total Amount = 5,543/- Work done from date 01-06-2020. to date 22.06.2020.	Rs.2,217/-

Amount in words: Two Thousand Two Hundred and Seventeen Rupees Only.

Sign:			
Sign.			

Bill for Equipment Allowance

R.Praveen Kumar, Lallaguda, Hyderabad.

Date: 14.07.20

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work: Lock set done at Staircase-1 & flat no-04 at Corridor at A-Block.

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Drilling of holes and inserting rod with chemical work for staircase-1 and at flatno-04 at A-block. Total Amount = 5,543/- Work done from date 01-06-2020, to date 22.06.2020.	Rs.2,217/-

Amount in words: Two Thousand Two Hundred and Seventeen Rupees Only.

Sign:			
-		 	

Construction division. Advice for giving credit to contractors/suppliers.

Contract Con			84-	C C			ls	14/7/2021		020	
Com	pany Name:	MRM	lallapu	91 UP	Site:				GI	7R.	
Nam	e of Contractor	-	avecr	- 1	omo	٥٠٠					
Natu	re of work		k So		coo	rk de	ne	at	-	A -	Block
Worl	k done	From D	Date	01	6 2	o To	Date		22	06	20
SI. No.	Villa/Flat/block no	. Qt	у.	Rate		Units	Amou	ınt		Cont bill r	ractors
1.	A-Block.										
2.	making hole 1	2mm	72	20	1-	Nos	Rs.	144	0/-		
3.	Insuring rod		72	15/	'-	Nos	Rs.	1080	0/-	R.	
4.	making hole	6mm	46	30	5/-	Nos			1	-	
5.	Inserting n	od.	46	20	1-	No's	·Rs	92	0/-	-	
6. 7.	9										
8.											
9.											
10.											
11.	Т	otal:					De.	5.5	43/		7
Bill 1	required	□ YES	MNO.	NO. GST		bill required		5,543/- E YES MO		NO.	F La
Meas	surement &	Requ	ired		Meas	surement	&	Enclosed			
	nate sheet:	□ Not 1	equired	estimate sheet:				☐ Not enclosed			1
PO/V	WO no.	-			PO/V	VO date:			-		
Rem	arks :							Tes.			
										His	
Appı	roved by Project Ma	nager	Appro	ved b	y Desi	gn Team	Approved by M.D.				The Table
Date	: 14/07/2030)	Date:				Dat	e:			
Sign	: Product.		Sign:				Sig	n:			

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Construction division. Advice for giving credit to contractors/suppliers.

Contract Con			84-	C C			ls	14/7/2021		020	
Com	pany Name:	MRM	lallapu	91 UP	Site:				GI	7R.	
Nam	e of Contractor	-	avecr	- 1	omo	٥٠٠					
Natu	re of work		k So		coo	rk de	ne	at	-	A -	Block
Worl	k done	From D	Date	01	6 2	o To	Date		22	06	20
SI. No.	Villa/Flat/block no	. Qt	у.	Rate		Units	Amou	ınt		Cont bill r	ractors
1.	A-Block.										
2.	making hole 1	2mm	72	20	1-	Nos	Rs.	144	0/-		
3.	Insuring rod		72	15/	'-	Nos	Rs.	1080	0/-	R.	
4.	making hole	6mm	46	30	5/-	Nos			1	-	
5.	Inscriting n	od.	46	20	1-	No's	·Rs	92	0/-	-	
6. 7.	9										
8.											
9.											
10.											
11.	Т	otal:					De.	5.5	43/		7
Bill 1	required	□ YES	MNO.	NO. GST		bill required		5,543/- E YES MO		NO.	F La
Meas	surement &	Requ	ired		Meas	surement	&	Enclosed			
	nate sheet:	□ Not 1	equired	estimate sheet:				☐ Not enclosed			1
PO/V	WO no.	-			PO/V	VO date:			-		
Rem	arks :							Tes.			
										His	
Appı	roved by Project Ma	nager	Appro	ved b	y Desi	gn Team	Approved by M.D.				The Table
Date	: 14/07/2030)	Date:				Dat	e:			
Sign	: Product.		Sign:				Sig	n:			

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.